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Given below are the two statements,

one is labelled as Assertion (A) and

other as Reason (R) :

Assertion (A) : Free kick is
awarded, if player touch the
ball with his ﬂand. .3

Reason (R) : Player  #ccidently
touches the ball, one won't get
a penalty for that. ™

Select the correct answer'tising the

code %:en below : N

1) th (A) and true, but
: Eﬂ is Emt 3{1111:1'9(4:1?&:“&011 of

(2) Both (A) and (R) are true and (R)

18 correct erg]nn.att‘un of (A).
(3) (A)is true, but {(IR is false.
(4) (A) is false, but (R) is true.
(5) uestion not attempted

Consider the following statements
with reference to disability':
I. Special Olympics is“sblely for
athletes with intellectual
1. The Pacelympics focu,
.The Paralympics focus.more on
physical disabilities, e
Select the correct answer from the
code given below :
ode :
1) OnlyI
2) OnlyII
3) BothIandII
(4; Neither I nor II
(5) Question not attempted

Which one of the following pairs
(Ancient India Physical Education -
Period) is not correctly matched ?
(1) Vedic period — (2000:1000 B.C%)
(2) Mohenjo-daro period ~(2500 B.
(3) ]Iéliéti:ricaj period — century
54) EPIC period - (500 B.C.)
5) Question not attempted

During which period architecture,
sculpture, literature and music
competitions were part of the
Olympic games ?

Elg 1912 to 1948 (2} 1908 to 1944
3) 1916 to 1952 (4) 1920 to 1956
(6) Question not attempted
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Match List-I with List-1I and choose
the correct answer using the code
given below the lists :

List -1 List - II
(Related
Personalities
of Olympic (Events)
Games Athens
1896)
A. Kostis I. Olympic
Palamas Anthem
Lyrics
B. Spyridon II. Marathon
Samaras Winner
C. George-1 III1. Official
opening of
Games
D. Spyridon IV. Olympic
Louis Anthem
music
Code :
(1) A, B, C.II, D-IV
(2) A-II, B, CJIII, DIV
(8) A1, B-1Iv, CII, D-II
(4) AJI, B-I, C-Iv, D-II
(5) Question not attempted

Consider the following statements
with reference to physical activity
and their effects on Aging :

I. Endurance declines very slowly
after reaching peak and other
parameters can be maintained
within the limits, if
participation in  physical
activities continued.

II. Agility declines abruptly and it
is difficult to maintain the
agility level of teen age
throughout the life.

Select the correct answer from the

code given below :

Code :

(1) Onlyl

(2) BothIandII

(3) OnlyIl

(4) Neither I nor 11

(5) Question not attempted
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Which of the following events are

aquatics events in Olympics ?

(1) Swimming, Artistic Swimming
Diving & Water Polo

(2) Swimming, Yachting, Diving
& Water Polo

(3) Swimming, Canoeing, Diving
& Rowing

(4) Swimming, Kayaking, Diving
& Rowing

(5) Question not attempted

Who advocated education through

the physical ?

(1) MecCloy's

(2) Stanley Hall

(3) dJohn Dewey

(4) Wood & Rosalind Cassidy
(6) Question not attempted

Which one of the following was the

first Central Government

Committee constituted for Physical

Education & Sports ?

(1) Raj Kumari Amrit Kaur
Coaching Scheme

(2) Central Advisory Board of
Physical Education &
Recreation

3; National Discipline Scheme

4) Tara Chand Committee

5) Question not attempted

Which one of the following activity

not related with reference “Som

Deva’s Katha Sarit” during ancient

India ?

(1) Lifting (2) Running

(8) Jumping (4) Throwing

(6) Question not attempted

Which one of the following correct
combination of three colour
elements present in the Logo
symbol of Paralympics ?

(1) Blue, Green and Yellow
Green, Blue and White

Red, Blue and Green

Red, Blue and Yellow

(5) Question not attempted

75



12.

13.

14.

15.

75

a1 I | &7 s, SRS AR

et & @ 7

(1) EFHIHS

(3) @TEHMEIE

(5) IrgERa WA

2 2 T fa o ¥, R wgen sty

(A) S gEuas R) R

Ry (A) : T frée 37 gt ¥
waftra & fmas gro =fE =t @
e dhEy, WRe §H § 9ERd
Tite @ 3 wWRA e
ety e weg faeredt & |

w6 (R) : =R danat &1 yEue 3
weg Weq % fou awmEe '\
e fas & e wafa Tl &

Iyire 2 et % wed #, Prafofea 4 @

FHAIWANRR 7

(1) (A) 3R R) et @ & 3 (R), (A)
%1 46 S R |

@) (A) 3R (R) 3t =t &, ST R),
(A) %1 TE TTEeHT T R |

(3) (A) wé R, AR R) TR |

(4) (A) e &, AfFT R) T R |

(5) FeRa T

R At § gom Afrat mitver B €

A A T FY HA & oy woefe A

o H I HEAE 7

(1) -

2 @«

(8) FATEICTh WIS

(4) oo

(5) IFwiE e

fra ww ‘ol e A nfafafy @

%&Haﬁtmmﬁfiﬁm

whEdAt H AR 7

(1) TUenfere S

(2) T AR

(3) TEH T YN

(4) W, &

(6) Sreia W

(2) wHTETE!
(4) Mew

12.

18.

14.

Which domain of learning deals
with interests, appreciations and
values ?

gli Cognitive ?2) Affective

3

5]

Psychomotor (4) Organic
Question not attempted

(Given below are the two statements,

one is labelled as Assertion (A) and

other as Reason (R) :

Assertion (A) : Health instructions
deal with the materials by
which an individual is helped
to ac%uire health habits, learn
health ekills, master health
knowledge and develop health
attitudes.

Reason (R) : Provision of health
gervices and creating an
environment for healthful
living is not sufficient without
health instructions.

In the context of above two

statements, which one of the

following is correct ?

(1) Both (A) and (R) are true, and

is the correct explanation of

th (A) and (R) are true but (R)
is not the correct explanation of

(A).
%3 is true, but (R) is false.
4 is false, but (R) is true.
(5 uestion not attempted

Which drug is often used by athletes
to reduce weight quickly in sports
where weight categories are
involved ?

El Beta-blockers

2) Diuretics

(3) Anabolic steroids

54} Stimulants

5) Question not attempted

Who said ‘Physical Education is the
sum of the changes in the individual
caused by experiences centering on
motor activity’ ?

{1; Rosalind Cassi

(2) Delbert Ob er

;3} Charles A. Bucher

(2

4) Harold M. Barrow
5) Question not attempted
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'l‘ﬁpa 2 diabetes is :
(1) Insulin dependent diabetes
mellitus
(2) Non-insulin dependent diabetes
mellitus
(8) Malnutrition related diabetes
mellitus
E4g Gestational diabetes mellitus
5) ~ Question not attampt:,qtj
Animals and humans producea starch
in muscle and liver tissue called :
El Glycogen  (2) Cellulose
3) Chitin (4) Fiber
(5) Question not attempt«aei
Match List-I with List-II
List -1 List - I1
(Minerals) (Function)

A. Fluoride I. Activates
enzymes;
involved in
protein

thesis,

B.Magnesium II. Constituent
of enzymes
ir_wul:n‘;nd in
digestion.

C. Zinc III. Constituent
of thyroid
horménes,

D.Iodine IV. Makes'enamel
of teeth hard
and prevents
dental caries.

Choose the correct answer from the
options given below :

(1) A-I, B, C.II, D-IV

2) A-Il, B-I, C-IV, D-III
3) A, B-IV, CII, D-I
4; AV, B-I, C-II, D-II
(6) Question not attempted

“The combined and coordinated use

of medical, social, education and

vocational measures for, training

and retraining individual to-highest

Euaaible level of functional ability”
as been defined as

Exercises

Phﬁﬁiutherapy

Rehabilitation

Recovery

5) Question not attempted
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20. Which of the following is not correct

21.

22.

about Diphtheria ?

i. It is caused by Mycobacterium
diphtheriae.

ii. Incubation period of it is 2-B
days generally.

iii, DPT vaccine is used to prevent
diphtheria.

iv. The. Schick test is a simple
procedure for measurement of
specific diphtheria antibodies.

Choose the correct option :

(1) Only i, iii and iv are correct.

(2) Only iii and iv are correct.

(3) Only ii, iii and iv are correct.

(4) All are correct.

(5) Question not attempted

MAA programme for infants and

young child feeding is a National

Nutritional programme. What is the

full form of MAA ?

(1) Mother’s Absolute Affection

(2) Mother’s Adorable Appeal

(3) Mother's Affordable Approval

(4) Mother's Affectionate
Acceptance

(5) Question not attempted

Match List-I with List-II :
List-1 List - II
(Name of (Deficient
Deficiency) Nutrient)
A, Xerophthalmia 1. Protein
B. Kwashiorkor II. Vitamin C
C. Goiter II1.Vitamin A
D. Scurvy IV. Iodine
Chooge the correct answer from the
options given below :

(1) A-I, B-II, C-JII, D-IV
(2 A-JI, BIV, CI, DI
(8) A-II, BI, C-IV, D-I

(4) A-IV, B.III, C-II, D-I
(5) Question not attempted
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When was universal immunization
programme launched ?

(1) 1985 (2) 1987

(8) 1978 (4) 1975

(6) Question not attempted

Read the following statements

carefully. Choose the correct option :

Statement i ;: The National Rural
Health Mission was launched
in 2005,

Statement ii : In 2014 National
Health Mission was launched
subsuming the National Rural
Health Mission and the National
Urban Health Mission.

Option :

(1) Only statement ii is correct.

(2) Only statement i is correct.

(3) Both the statements
correct.

(4) Both the

(5)

incorrect.
Question not attempted

Which one of the following is

Aerobic Bacteria ?

(1) Fusobacterium
(2) Clostridium
(38) Prevotella

(4) Bordetella Pertusis
(6) Question not attempted

are

statements are

. Which one of the following is having

higher amount of carbohydrate
when consumed in equal amount ?
(1) Potato

(2) Sweet Potato

(3) Ripen Banana

(4) Sapodilla

(6) Question not attempted
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~ Statement

Which of the following is not a rule

of dressing and bandaging ?

(1) Start bandaging from the

bottom of a limb and work

towards the top.

A gly adhesive tape all the
v around a limb or a finger

as it could cut off the blood

(2)

ﬂﬁj’f;
(3) Séctire the bandaging with
adhesive tape and guard

against loose ends that might
get caught when the casualty
is being moved.

Use uniform pressure when
bandaging and wrap the large
area of the limb, which cuts
déwn the chance of impeding
the'eirculation.

Qltuatlon not attempted

(4)

(5)

Whmh': of the following is a
monouhsaturated fatty acid ?

(1) Linoleic Acid

(2) Oleic Acid

(3) Linolenic Acid

Arachidonie Acid

Question not attempted

he following statements
. Choose the correct option :

nent i : Cystic fibrosis is a

romosome abnormalities,

#nt ii : Diabetes is a

mplex inheritance disorder.

iii Chromosomal
abnormalities typically ocecur
due to a problem with cell
division.

Option:

(1) Statement i and iii are correct.

(2) Statement ii and iii are correct.

(3) Statement ii is correct.

(4) Statement i and ii are correct.

(5) Question not attempted
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31.

33.

=
e

Which of the following is not a water
soluble fiber ?

(1) Mucilages (2) Pectins
(3) Gums (4) Lignin
(5) Question not attempted

o~ '
Which vitamin is required for th
synthesis of prothrombin.?

(1) B (2 By,

(3) K (4) .

(5) Question not atte _tl,ed

Which one of the following

(Nutrients-Function) is not

correctly matched ?

(1) Iron — Binds haemoglobin and
transports oxygen to cell.

(2) Iodine — Functions like steroid
hormones in the body.

(3) Magnesium - Invo in more
than 300 enzyme réactions.

(4) Vitamin A - TForm and
maintain skin, tégéth, bones
and cell membrane8.

(5) Question not attempted

Consider the following statements

with reference to Drugs :

I. Chemical substances that excite
a person - mentally or
physically.

II. An ergogenic aid is something
that improves phjei.rf'al work
performance. ;

Select the correct answer!from the

code given below : ~d

Code : Qi

(1) Only I is correct. &

(2) BothI and II are céfrect.

(3) Only II is correct.

(4) Both I and II are incorrect.

(8) Question not attempted

. Which one of the following is not the

components of health related fitness ?
(1) Balance

(2) Body composition

(3) Cardio-respiratory Endurance
(4) Muscular strength

(6) Question not attempted
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36.

37.

38.

a9.

Whl(.‘h one of the following pairs
%5 -Form) 1is not correctly

mat ed 7

(1) Narcotics — Morphine

(2) Depressants — Barbiturates

(3) Stimulants — Heroin

(4) Hallucinogens — L.S.D.

(5) Question not attempted

A decrease in serum calcium levels
gives rise to a condition called;

(1) Osteoporosis

(2) Frozen Bone

(3) Tetany

(4) Pneumonia

(6) Question not attempted

How much protein is recommended

::ic- a 50 kg Indian adult woman per
ay ?

(1) 60g (21

(3) 50g (4) 55g

(5) Question not attempted

Choose the right sequence of

fruviding a First-Aid for fractures.

. Monitor causality’s condition,
paying particular attention to
the circulation beyond any tied
bandages.

II. Phone the emergency services

and arrange transport to

hospital.

Assess the situation

reassure the causality.

Prevent movement at injury site

and stem bleeding if an open

fracture.

() ILLIOLIV (& ILIILIV,1

() IIIIV,II,I (¢ IO ILIV,I

(5) Question not attempted

66 g

I1I.
IV.

and

Which one of the following pairs

related to the causes of Air pollution

is not correctly matched ?

(1) Industrial processes -
Chemical and Metallurgical.

(2) Combustion — Thermal and
Ratio-active.

(3) Motor wvehicles — Emitting
hydrocarbons.

(4) iscellaneous — Insecticides
and nuclear energy.

(5)

Question not attempted
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40.

41.

42,

43.

44,

The term seizure is often used
interchangeably with —

(1) Concussion (2) Convulsion
(3) Fainting (4) Shock

(5) Question not attempted

To combat  parasitic worm
infections, Government of India has
declared which of the two dates as
fixed days to provide Albendazole
tablets for deworming school age
children ?

(1) 10 May and 10 November

(2) 10 June and 10 December

(3) 10 July and 10 January |

(4) 10 August and 10 Feb

(6) Question not attemptel:‘_;‘ .

Find out a symptom that giiggest,
that a heart is not pumping'well

(1) RedLips (2) YellowLips
(3) BlueLips (4) Red Eyes

(6) Question not attempted

Which skill test consist of Volleying
test items, Serving test items,
Passing test item and Set-up test
item 7

(1) Brady's Volleyball

(2) SAI Volleyball

(3) Russell-Lange Volleyball;

(4) AAHPER Volleyball 1

(6)  Question not attempted' i

Match List — I with List - H
the correct option :
List-1
(Disease)
Whooping 1.
Cough
Leprosy

UQEE

List 1MII
(Bacteria)
Clostridium
Tetani
ii. Mycobacterium
Tuberculosis
iii. Bordetella
Pertussis
iv. Mycobacterium
Leprae

Dav
D-1-

€3 e

Tetanus

D. Tuberculosis
Option :
(1) A-ii,
(2) A-iv,

B, C-1i1,
B-iii, C-i,
(3) A-i, ,B-i, Cdv, Daii
(4) A-ui, B-iv, C-1, D4i
(5) Question not attempted "
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48.

49,
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Hewitt JE constructed skill test for
which of the following sports ?

(1) Hockey (2) Badminton
(3) Tennis (4) Volleyball
(5) Question not attempted

“Ranking of athletes according to
some sequence like fastest or
slowest is an example of which scale
of measurement ?

(1) Nominal (2) Ordinal
(3) Interval (4) Ratio
(5) Question not attempted

Vital Capacity is the total of

(1) Tidal volume, Inspiratory
reserve volume, Expiratory
reserve volume.

Inspiratory reserve volume,
Residual volume, Functional
residual volume.

Inspiratory capacity volume,
Residual volume, Functional
Residual capacity.

Expiratory reserve volume,
Inspiratory capacity, Residual
volume.

Question not attempted

(2)
(3)
(4)

(5)

In Badminton skill test constructed
by Scott and Fox for long service
how many trials will be given to
each students ?

(1) 5 (2) 10

3) 15 (4) 20

(6) Question not attempted

Which of the following test item is
not a part of Battery of SAI
Badminton Skill Test ?

(1) Wall Volley Test

(2) Shuttle Run Test

(3) Tennis Ball Throw Test

(4) Standing Backward Jump Test
(5) Question not attempted
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. Which of

50. AAHPERD Youth Fitness Test was

firstly published in which year ?
(1) 1954 (2) 1958

(3) 1975 (4) 1976

(5) Question not attempted

51. Match the following :

i. Content
Validity

A. How well the
 test
performance
measures a
student’s
future
performance.
How test
performance
can be described
for  behaviour
that are difficult
to define.

How well the
test measures
the test
behaviour under
considerations.
How well the
test
performance
measures
student’s
current
performance of
a trait.

iii-B, iv-D
ii-D, iv-A

(3) i"C: ii-D, i.ii"A.. iV‘B

(49) i-C, ii-A, iii-D, iv-B
(6) Question not attempted

the following Body
composition methods technique is
most accurate 7

(1) Underwater weighing method
(2) Skin fold estimation

(3) BMI

(4) Bio Electrical Impedance

(5) Question not attempted

ii. Con- B.
current

Validity

iii. Predictive C.
Validity

iv. Construct D.

Validity

(1) 1i-C,
(2) i-C,

1i-A,
ii-B,

75
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54.

55.

Which one of the following is not the
test of isotonic strength items ?

(1) Dip Strength Test

(2) Bench Squat Test

(3) Pull up Test

(4) Grip Dynamometer Test

(5) Question not attempted

Which one of the followin
pertaining to traditional line o
thinking in motor behaviour is not
correctly matched ? >
(1) Motor capacity — Innate ability
or potential. ’
(2) Motor educability — Ability to
acquire new behaviour.
(8) Motor ability — Acquired or
innate abilif
movement skills,

to perform
(4) Motor Fitness — Integration of
movement into some pattern.
(5) Question not attempted
Match List-I with List-II and choose the
correct answer using the code given
below the lists :

List -1 List - II
(Test (Concept)

Criterion)

A. Validity 1. Representative
of specified
population.

B. Reliability II. Degree to which a
test measures
what it was
designed to
measure,

C. Objectivity III. Repeat ability of
a test.

D. Norms IV. Clarity of the
directions for
administering
and scoring test.

Code :

(1) A.II, B.III, C-IV, D-I

(2) A.III, B-IV, C.II, D-I

(3) A-Il, B.III, C-I, DIV

(4) A.III, B-II, C-IV, D

(6) Question not attempted
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58,

Which one of the following identify
the “Gold Standard” technigue of
measuring body composition ?

(1) Hydrostatic weighi

52 Body Mass Index (B

3 ‘\gf.’fﬁﬁletm Resonance Imaging

54; old Callipers ;
5) Question not attempted,

Match List-I with List-II and choose

the correct answer using code
given below the lists : f“‘
List -1 List=II
(Fitness (Namaé of the
Component) tests)

A. Cardio- I. Astrand Cycle
Vascular (Ergocyle) Test
Endurance

B. Muscular IT. Press-up Test
Endurance

C. Muscular II1. Pull-u Test
Strength d.ngad)

D. Power V. Sargeant Jump
(Explosive)

Code : W

(1) A-I, B-.II, C-I,

(2) A1, BJII, CJI, DIV
(8 A, B, C.IV, B
(4) A, B-II, C-IV, D4
(6) Question not attempted

Given below are two statements, about

Johnson Potential Bagket ball ability

test battery, one is labelled as

Asgertion (A) and other as Reason (R).

Assertion (A) : In Johnson Potential
Basketball ability test battery
consists of three tests.

Reason (R) : The three att&ry
consists of Field goal. speed
test, Dribble test and hrow
for accuracy.

Select the correct answer l@i&ﬂg the

code given below :

(1) ﬂ)t.h (A) and (R) are true, but (R)
is not correct explanatinn of (A).

(2) Both(A) and (R) are true s.nd )
is correct

3) (A)is tru:xgut (R) is falae

4) (A)is falﬂe but (R) is true.

5) uestion not attempted
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59.

60.

61.

62.

63.

Which of the following basketball

skill test consists of four test items

viz. Dribble shoot, Speed dribble,

Penny-cup and Speed pass ?

(1) Harrison basketball test battery

(2) Antrim basketball test

(3) Johnson basketball ability test
battery

(4) Knox basketball test battery

(5) Question not attempted

How much space is required for
testing area in Henry Fnedel Field
Hockey test 7

(1) 10x 5 yards (2) 15 x5 yards
(3) 20x 10 vards(4) 25 x 10 yards
(5) Question not attempted

Sport Competitive Anxiety test was
developed by

(1) Robert N. Nideffer

(2) Smith Schutz, Small & Ptacek
(3) Rainer Marten's

(4) Speilberger

(6) Question not attempted

Miller wall volley test is related to :
(1) Badminton (2) Volleyball
(3) Tennis (4) Cricket

(5) Question not attempted

Computation of Fitness Index
Score :
(1) Fitness Index Score = (100 x test

duration in seconds) divided by
(2 x sum of heartbeats in
recovery periods)

Fitness Index Score = (100 x test
duration in minutes) divided by
(2 x sum of heartbeats in
recovery periods)

Fitness Index Score = (1000 x
test duration in seconds) divided
by (2 x sum of heartbeats in
recovery periods)

Fitness Index Score = (1000 x
test duration in minutes)
divided by (2 x sum of heartbeats
in recovery periods)

Question not attempted

2

3)

(4)

(5)
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64.

65.

67.

Which of the following is not part of

advanced preparation for the proper

administration of test 7

(1) Constructing norms
standards

(2) Selection of appropriate test

(3) Preparation of score cards

(4) Selection of organization and

(5)

administration procedures
Question not attempted

Following facts are ireiated to

Russell-Lange Volleyball 'test :

i. It was developed in 1940.

ii. It was for junior high school boys,

iii. It consists of two items.

iv. In volleying test restraining line
is 3 feet from the wall.

Choose the correct option :
(1)
(2)
(3)
(4)
(5)

and

Only i, i1 and ii1 are correct.
Only ii, iii and iv are correct.
Only i and iii are correct.
Only i, iii and iv are correct.
Question not attem]Ited.

The following formula is used in
which of the following test ?

Duration of exercise period in seconds x 100

2 » sum of three pulse count after exercise
(1) Tuttle pulse ratio test,

(2) Cooper Run or walk,taat

(3) Harvard step test | -

(4) Roger's physical fitness index
(5) Question not attempted

The degree of uniformity with which
various persons score the same test
is ;

(1) Objectivity (2) Reliability
(3) Validity (4) Norms

(5) Question not attempted
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68.

69.

70.

T1.

Which of the following test consist of
Obstacle Race as test item ?

(1) Barrow motor ability test

(2) Scott motor ability test

(3) AAHPER youth fitness test

(4) Cooper's Aerobics Test

(5) Question not attempted

In anthropometrical measurement
Bicristal Diameter term is used for —
(1) Shoulder width

(2) Hip width

(3) Elbow width

(4) Waist width

(6) Question not attempted

Which of the following are the
factors affecting validity ?

i.  Specificity of group

il. Nature of examinees

iii. Relevance of tests

iv. Length of test

Choose the correct option :

(1) Onlyiand ii are correct,
(2) Only i and i1l are correct.
(3) Only ii and iii are correct.
(4) Only iii and iv are correct.
(6) Question not attempted

Read the following statements
carefully and choose the correct
option :

Statement i : SAI Badminton skill
test is being used to spot
Badminton talent from the 10-
14 year old school boys and
girls.

Statement ii : Tennis Ball throw is
one of the test item of SAI
Badminton test,

Statement iii : There is a four test
items in SAl Badminton test.

Option :

(1) Only statements i and iii are
correct.

(2) All the statements are correct.

(3) Only statements ii and iii are
correct.

(4) Only statements i and ii are

correct.

(6) Question not attempted
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72,

73,

74.

76.

Which of the following test was
developed to test fitness of senior
citizens ?

(1) General motor fitness test

(2) Barrow motor ability test

(3) Rikli and Jones fitness test

(4) Harvard Step test

(5) Question not attempted

Over speed training is used by
cyclists to increase what of the
following ?

(1) Simulation

(2) Cadence

(3) Momentum

(4) Muscular Contraction speed
(5) Question not attempted

Karvonen formula is used to

calculate what of the following ?

(1) Breathing rate

(2) Training load per set

(3) Amount of Intensity per set

(4) Heart rate for various training
intensities

(6)

Question not attempted
In Sports training, the key to
improvement is not how much
training you can do but;
(1) How much sleep you are
having.
(2)

How many calories you are
having.

(3) How much training you can
recover from. -

(4) How much happy you are after
training session.

(5) Question not attempted

Which of the following statement

about some principles of evaluation

is not correct ?

(1) Gathering data from both the
product and the process.
(2) Necessity for advancement in
scientific education.
(3) Administration by incompetent.
(4) Use for a specific purpose.
(5) Question not attempted
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77.

78,

79.

80.
|

In sports training, SMT stands for

(1) Scheduled Minute-wise-
Minute Training

(2) Scheduled Monthly Training

(8) Sensory-Neuron Motor
Training

(4) Sensory Motor Training

(5) Question not attempted

Who among the followip% daid
“Sports training is the basic form of
reparation of sportsmen” ? |
1) Matwejew i~

Hare I}
3) Thiess and Schnabel b
4) Martin '
5) Question not attempted

The major errors in training

process, which serve as the

potential cause for performance

deterioration, may be '

A. Rapid increase in load without
allowing adaptation to stabilize.

B. Adequate recovery.

C. Too high volume of load. 14

D. Excessive use of stereotypic
training means and methoda! |

Choose the correct answer from'the

options given below : k.

(1) A, Band Conly b

(2) A, CandD only

(3) B, CandD only

(4 A,B,CandD

(5) Question not attempted

Which of the following method has
proved to be very effective for
improving strength endurance ?

1) Circuit training

2) Interval training

3) Weight training

4) Continuous training

5) Question not attempted

[l

. Maximum strength is also called :

(1)
(2)
3)
(4)
(6)

Total Body Strength W
Skeletal muscles strength '
Gross Strength

Ordinary Strength

Question not attempted
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82,

83.

Relatively stabilized and
generalized patterns of motor
control and regulation processes
known as

(1) Speed

(2) Strength

(3) Flexibility

(4) Coordinative abilities

(5) Question not attempted

Given below are the two statements,
labelled Assertion (A) and Ramn
(R) :

Assertion (A) : Planning muat he
based on the latest ameﬁtﬂk
knowledge and expanance '

Reason (R) : Planning is basically
concerned with the deterioration
of performance in future.

In the context of above two

statements, which one of the

following is correct ?

(1) Both (A) and (R) are true, a.gd

(R) is the correct explanau&n of

(A).

Both(A) and (R) are true buﬁ (R}

is not the correct explanatmn.*of

(A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question not attempted

(2)

(3)
(4)
(5)

. The actual realization of strategy in

practice is

(1) Technique (2) Skill

(3) Tactics (4) Style

(5) Question not attempted |-

training method w:}u

Circuit

developed by

(1) Gosta Holmer J
(2) W. Gerschler o
(3) E.V. Aaken

(4) R.E.Morgan and G.T. Adamson

(5) Question not attempted
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86. According to Berger and Minow

87.

88.

what should be the duration of
preparatory period of the total
duration of the training cyele ?

(1) 2/3tod/4 (2) 1/4t02/3

(3) 1/3to23 (4) 1/4to3/4

(56) Question not attempted

Which of the following is correct
about pre competition Meso Cycle ?
(1) It aims at the development of
selected motor abilities and
skills.

It aims at the development of
complex performance capacity
and tactical efficiency under
competition conditions.

These Meso Cycles are usually
used in  between @ two
competition Meso Cycles.
These Meso Cycles are used
before the main competition.
(5) Question not attempted

Which of the following are
objectives of preparatory period —
Phase-17?

1. To regain the previous training

state.

Development of those factors on

which the performance depends

directly.

Preparing the sportsman for the

competition period.

iv, To condition the sportsman to
take higher training loads in the
next phases of preparatory and
competition period.

Choose the correct option :

(1) Only i and ii are correct.

(2) Onlyiand iv are correct.

(3) Only i and iii are correct.

(4) Only ii and iii are correct.

(6) Question not attempted

Who said “Speed is the performance
prerequisite to do motor actions
under given conditions in minimum
of time 7"

(1) Johnson and Nelson

(2) Barrow and McGee

(3) Theiss and Schnabel

(4) Mathew

(5) Question not attempted

(2)

(3)

(4)

i,
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91.

92,

Which of the following is not a
principle of tactical preparation ?
(1) Competition qualities

(2) Principle of continuity

(3) Tactical evaluation

(4) Unity of theory and practice
(5) Question not attempted

From the following methods, identify

which are used for development of

strength endurance ?

I. Use of special competition
exercise with higher resistance.

II. Circuit training

I11. Slow eccentric method

IV. Dynamic concentric method

Options :

(1) Only I and II are correct.

(2) Only I and IV are correct.

(3) Dnl}r IT and III are correct.

(4) Only I, II and IV are correct.

(5) Question not attempted |

Match List-1 with List-II and choose
the correct answer using the cade
given below the lists :

List - I List - I
(Phases of (Duration of
Periodisation) periods)
A. Preparatory 1. 4 to 6
period weeks
B. Competition IIl. 8 to 6
period weeks
C. Transitional [II. 6 weeksto
period 7 month
D. Meso cycles IV. 6weeksto
5 month
Code : .
(1) A.IV, B.III, C-I, D-II
(2) A-II, B-IV, C-III, D-I
(38) A-1Iv, B, C-IV, DI
(4) A-III, BIIV, C.I, DI

(6) Question not attempted

In which period Basic Meso Cycle is

primarily used ?

(1) Competition period

(2) Preparatory period

(3) Transition period

(4) Competition and preparatory
period both

(5) Question not attempted
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95.

96.

Which one of the following is not the
factors determining co-ordinative
abilities ?

(1) Memory

(2) Perception

(8) Cognition

(4) Speed

(5) Question not attempted

Which one of the following is not the

methods for the improvement of
flexibility = through  stretching
exercises 7

(1) Ballistic method

(2) Slow stretch and hold
(3) Post ISO-metric stretch
(4) Hold and stretch

(5) Question not attempted

Consider the following statements

with reference to technique and
skill :

I. Technique denotes the level of
effectiveness with which a
movement or motor action can
be done.

Skill is defined as the motor
producer for tackling motor task.

Select the correct answer from the
code given below :

Code:

(1) Onlyl

(2) BothIandII

(3) OnlylIl

(4) Neither I nor II

(6) Question not attempted
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7.

98.

Bgi

Which one of the following is not the
method of improving maximum
strength ?
(1) amic Concentric Method
2) Dynamic Eccentric Method
3) Static method
4) Circuit Training
(5) Question not attempted
Match List-I with List-II and choose
the correct answer using the code
given below the lists :

List -1 List - II
(Training (Effect)
Means)
A. Pedagogical 1. Health
measures
B. Bio- II. Feedback
Mechanical
means
C. Natural I11. Technical skill
means assessment
D. Material IV. Knowledge
objects
Code:
(1; A-Il, B-Iv, C.I, D-I
(2) A-IV, B.III, C-I, D-l
(3) A-III, B-II, C-I, D-IV
(4) A.III, B-Iv, C-I, DI

(5) Question not attempted

Consider the following with

reference to speed barrier :
Delaying of speed Barrier by
enabling sportsman to
movement faster by adopting
certain means i.e. running
downhill and if the sportsman
does not do the concerned
movements for a sufficiently
long time then this
automatisation becomes weak.,

II. Overcoming speed Barrier by
improving speed performance
predominantly by using non-
specific means and methods.

Select the correct answer from the

code given below :

Code:

Only I is correct.

Only I and II are correct.

Only II is correct.

Both I and II are incorrect.

Question not attempted

(5)
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100. Given below are two statements,

101.

one is labelled as Assertion (A) and
other as Reason (R) :

Assertion (A) : The differen es
of training plans W%-‘l be
classified according to.. two
criteria : the duration addithe
number of persons for Which
the plan is made. Ch

Reason (R) : According to the
duration we have several short
term and long term plans.

Select the correct answer using the
code given below : €

(1) Both (A) and (R) are truca,'}:ut
(R) is not the goryect
explanation of (A). cn

Both (A) and (R) are true atill;l’ ®R)
is the correct explanation of (A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

(2)

(3)
(4)
(5)

Which one of the following{ pairs
(Book-Author) is not cofréctly
matched ? ¢

(1) Scientific Basis of A&%etic
Conditioning Jens &
Fischer

Athletic Training and Physical
Fitness — J.H. Wilmore

Sports Training Principles —
F.W. Dick

Towards Better Coaching -
AW. Taylor

Question not attempted

Question not attempted

(2)
(3)
4
(5)
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Load volume can be further divided
into

A. Movement duration

B. Movement frequency

C. Movement intensity

D. Load density

Choose the correct answer from the

af)tinns given below :

A and B onl
2) AandD only £,
3) Band Conly o
4) Cand D only )
5) Question not attempted |

; 2
Given below are the two statements
labelled Assertion (A) and Reason

) A

glsaertiun (A) : Curriculum should
be designed in a progressive
manner and should be based
upon the principle of continuous
process of educational and
professional values.

Reason (R) : Curriculum should
formulated with the cuncegi
overall development of teac

In the context of above ¢t

statements, which one of theé

following is correct ? N

(1) Both (A) and (R) are true, and
(R) is the correct explanation of

(A).

(2) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

Which one of the fuiluvﬁr%

combination of parameters of loa

(sport/exercise-intensity-volume)-

not correctly matched ?

(1) Cyelic Sports - Speed(| s
Duration or Distance (1

(2) Jumps/Throws — Distance or
Height — Frequency

(3) Team games — Degree of
difficulty B Frequency/
Duration/Distance

(4) Weight training — Resistance/
Speed — Total wt. lifted

(5) Question not attempted
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105.

106.

o B

L (B)
107.

108.
v% sfisi, frerl, am doel & 9=
" HER % J1eN % ¥ § 1w g 7
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(1) wfweE 2) wH-ar
(3) wefHEE (4) fRewerd
(5) FEwE W

T s foen oftee w9 wfemm &
g 7

(1) 1984

(3) 1990

(5) it e

19 3 wum fea & - wmen s (A)
s Z80 7 (R) # | 37 s afee ud
#12 few 7o gz & Iw g

SR (A) - B v T M I
|

& (R) - 386 SfFa1 1 wmg fam 9= wewlq
TEE TR E |

1986
1995

(2)
(4)

A=Y (A) 979 8 U8 7% (R) T
21

 (R) = 2, A e (A) |
Ted R |

1 YA (A) wE 7 (R) T € |
A el T E

FTRE WA

AT five & e e @ % TaEEE
YT TRt famriw gro ot d oft 2
(1) ISR JATEmT

(2) =, aw =g wfufa

(8) HfEs et @ ufivg

(4) T g

(5) i e

frfefiga & & =t w1 &1 Bl o dwm

(1)

(2)

(3)
(4)
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105.

106.

107.

108.

When did the National Council of
Teacher Education come into
existence ? '
(1) 1984
(3) 1990
(5)
Given below are the two statements
as Assertion (A) and Reason (R) :
Read them carefully and choose
answer from the code given below :
Assertion (A) : Sports training is a
pedagogical process. °
Reason (R) Without
understanding it, it is not
possible to perform well.
Code :
(1) Assertion (A) is true and
Reason (R) is false,
Reason (R) is true,
Assertion (A) is false.
Both Assertion (A) and Reason
(R) are true.
Both are not true,
Question not attempted

(2) 1986 -
(4) 1995
Question not attempted.

(2) but

(3)

(4)
(5)

The introduction of Post Graduate
level course in Physical Education
was done by the recommendation
of :
(1)
(2)
(3)

Kothari Commission

Dr. Tara Chand Committee
All India Council of Sports
(4) Kunzru Committee

(6) Question not attempted

Which of the following board serves as
a medium of communication between
students and institute’s authorities,
teachers, student leaders 7

(1) Chalk board

(2) Peg-boards

(3) Bulletin boards

(4) Flip charts

(6) Question not at-tempted




110, frew i wefé v2fy F wm s

111, Fefafar g a s asum ot § 7

ﬁmgﬁm
gar -1
A. wed wite wfafy i. 1958
B. #few wdm @9 ii. 1954
o] '

C. #fasRafafa  iil. 1960
D. $~% #fafy iv. 1959

e - 10

(1) A-ii, B-ii, C-iv, D-
(2) A4, B-i, C-ii, D-iv
(8) A-i, B-iv, C-, D-iii
(4) A-iv, B-ii, C-i, D4

(5) FIE wH

B 1 77§ oft ¢
(1) FEF.3a (2 AR
(3) Ugdt M Sfiei (4) #EAdEA

(5) e e

A, o wems owiint s oW
Fefora Heh § 3 93 et wt
wqT & |

|
|
|
I
1|
ey |l
|
|
|
|

B. forew e amfit gam ik 3y
wfwaradi ®1 safaE w E | I

C. mmmmﬁ?ﬁmi
T 1o ITHWT 6 &9 H B FA 8 |

D. ﬁwmmmﬁﬁmm]
gvTfeam & & |

#r= fom o feepedt # & wE IO

(1) st A, B3t C

(3) #HEAA, B3IND
(4) A, B, C3RD

(5) TG W
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|
i
(2) 8@ B, C 3D I
I
l

109. g1 % @ g=-11 $1 fireed 3 @@ | 109. Match List-I with List-IT and choose

the correct option :

List -1 List - 11
A. Ad-hoc Enquiry i. 1958
Committee
B. All India Council of ii. 1954
Sports
C. Kaul Kapoor 1. 1960
Committee )

D. Kunzru Committee iv..1859
Option : g

(1) A-ii, B-ii, C-iv, D.d*
(2) A4, Bei, C-ii, D- j“ﬁ
(3) A-i, B-iv, C-, D-in

(4) A-iv, B-ii, C-i, D-i
(5) Question not attempted

110. The Scouting method of teaching

was founded by

(1) David K. Brace

(2) George Scout

(3) Antony von Schiller

(4) Baden-Powell Ll
(6) Question not attempt,e"d

111, Which of the following stdteﬁmnts

are correct ?

A. Teaching aids st:mulatés the
senses and augment sensory
processes.

B. Teaching aids stimulate the
auditory and visual processes.

C. Teaching aids act as
performance decreasing devices,

D. Teaching aids are the potential
source of attention contyol.

Choose the correct answer f(n;:n the

options given below : C

(1) A, Band C only { Er,

(2) B, CandD only R

(3) A, BandD only

(4 A,B,CandD

(5) Question not attempted
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3l

112. Which one of the following is not the

113.

characteristics of  curriculum
evaluation programme ?

(1) Changes in the procedure of
curriculum planning and in
overall curriculum  plans
should be based on evaluation
evidence.

A systematic set of procedures
for securing evaluation
evidence should be in
operation.

These procedures should be
based on values agreed upon

(2)

(3)

by all who participate in
curriculum planning.

(4) To understand the
relationship of education with
the physical health education
and sports.

(6) Question not attempted

Which of the following are

principles of curriculum desugn and
planning ?

i. Curriculum design should be
according to the age and sex
ratio of the individual for which
it is planned.

It should be designed according
to the growth and development
pattern of the learner’s group.
It should be based upon the
recent trends and current social
affairs.

It should be designed in a
reasonable time duration, so
that it may be implemented in
due time.

Choose the correct option :

v,

(1) Only i, ii and iii are correct.
(2) All are correct. ‘

(3) Only i, ii and iv are correct.
(4) Only ii, iii and iv are correct.

(5) Question not attempted
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ElGiE

(1) wmiifes depla
1;{2} fefafy frem
:.1(3} it fasm
4w e o e
IN5) FTE W

I
115, Bl &2 o a7 AR sk
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(1) wmfea @ aiEd
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:3'}:5) FATNE 9
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115.

116.

117.

118.

education
terminology is referred to as :
(1) Physical culture

(2) Movement education

(3) Physical science

(4) Sports culture and science
(5) Question not attempted

Which of the following is not an

Activity Based Curriculum Model ?

(1) The Organized Recess Model

(2) The Competitive Achievement
Model

(3) The Sports Education Model

(4) The Moral Education Model

(6) Question not attempted

“A profession is a practice of

discipline to the service of

mankind”, stated by whom ?

(1) Krawl

(2) Stainhacis

(3) Carrasaunder

(4) Rakesh Gupta
(6) Question not attempted

The method of micro teaching was
developed in which year ?

(1) 1933 (2) 1947

(3) 1963 (4) 1988

(5) Question not attempted

Which of the following are the

working components in curriculum

planning ?

1. Minister of Health and Family
Welfare

ii, Administrator

iii. Parents and community leaders

iv. Individual from specialized area

Choose the correct option :

(1) Only i, ii and iii are correct.

@) Only §, if

(3)

(4)

(5)

Only i, iii and iv are correct.
Only i, ii and iv are correct.
Question not attempted
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119,

120.

121.

122.

123.

75

TSHAT i Ao wa v 61 7 7

(1) 12 g, 1953

(2) 18 HagET, 1961

(8) 12 v, 1961

(4) 18 r=gER, 1953

(6) FwE v

IR W w1 WEr ged e

Freferftee & & forwds gro R man e 7

(1) e Uefim i amfm

2) w3

(8) U =&Y, gETE o

(4) T

(6) Fwita W

Frafafte & & 917 o1 v mia sams

e sRwg wrfi 8 7

(1) =gmew fivees e & farg Ranfada
W T |

(2) ol WHI-TF TEA WS Sgfa
ok ol

(8) fws i =1 wr=g 3k et
I |

(4) wwur & for g wavi qeaiET
SoTTet T w5t |

(6) I W=

Frafefem # @ S5 @ fet % wdame

1o T R 7

(1) wermE Tedm %1 39

(2) e = fadheem

(8) WHEWE FHTEET

(4) Zroafe Faw

(6) 3rgeiia s

% fives Ry afonfiv g # e 2
(1) Fogetee frgor (2) o fafy
(8) fetmma  (4) wmwARM
(6) HAgOiE W=

I
g P a1 fideres i & Rt fref |

119. The Raj Kumari Coaching scheme

120.

- (B)
121.

122.

123.

ceased to function on

(1) 12 October, 1953

(2) 18 October, 1961

(3) 12 October, 1961

(4) 18 October, 1953

(6) Question not attempted

The term “Microteaching” was
firstly used by which of ’:-‘fﬁm
following author ? QO

(1) Mec Allese and Unwin ;{3
(2) Peck and Tucker LD

(3) A.W.Dwight Allen
(4) Clift
Question not attempted

&

Which one of the following is not the

function of National Council of

Teacher Education ?

(1) Issue guidelines for minimum
teacher qualifications.

(2) Penalize a person havmg fake

(3)

credentials. pld

Coordinate  and mo%ur

teacher education. I\_‘

(4) Evolve suitable perfo
appraisal system

institutions.

Question not attempted

DI'

(5)

Which one of the following is not the
cause of teachers burn-out ?

(1) Lack of Administrative support
(2) Decentralization of power

(8) Public criticism

(4) Inadequate salaries

(5) Question not attempted , 0

Which instructional scenarid-‘for
learner is placed in a “WORLD" fHat
is defined by the teacher ? :;‘:
(1) Simulation teaching c .
(2) Project method i
(3) Dioramas
(4) Microteaching
(6) Question not attempted

#]
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125.
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127.

fores forer % 2 yEl & FE-TE gtE
B & e % wed # Prafafee $uEt w
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(1) 7@
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(3) Fdm = o
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I, 11, 111 3 IV
IV, I1, I 3R 111
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FTIIE e

124,

125.

126.

127.

Consider the following statements
with reference to idea of teacher
education which structured around

twu OIES—
]E rofessional
actenatma (e.g. Patience of a
mother, persistence of a

Marathon athlete ete.)

II. Acquired the art of teaching or
transmitting the knowledge and
skills to others.

Select the correct answer from the

code ven ha ow. .

gﬂ) Bot I and II
3) OnlylII

Eai Na:ther I nor II

5) Question not attempted .
Which one of the following is not the
commonly explored teacher

characteristics ?
glg Status EE; Personality
3

Attitude 4) Aptitude
5) Question not attempted

Which one of the following is not the
factor affecting student laa.mmg":‘

(1) Perseverance {s
(2) Time allowed }.‘_' .
(3) Quality of Instruction .
(4) Attitude -3
(5) Question not attempted

Arrange the following institutions/

organizations of physical education

and sports in chronological order of

their inception in India :

I.  Christian Callage nf Physical

Education, Luckn

Government Cal.le

o HEducatmn H P m

. Hanuman }fa}fam ra

Mandal, Amravati

IV. Tr&mmg Institute of ths]fal
Education, Kandivii '

Codes :

ﬁlj I, II, Il and IV

2} IV, II, I and III

(3} IILIL I and IV

(4

I1.

1L, I, 11 and IV
(5) Questlun not attempted
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128.

129,

130.

131.

133.

Which one of the following is
conventional wisdom in which
instructional design should be
based upon ?

(1) Data based

(2) Explicit outcomes

(3) Analysis of the environment
(4) Justification

(5) Question not attempted

In which year Lakshmibai National
College of Physical Education,
Gwalior got the status of
autonomous college 7

(1) 1957 (2) 1973

(3) 1982 (4) 1995

(5) Question not attempted

In 1885 an international training
school of YMCA was founded at :

(1) Springfield, Massachusetts

(2) Feltham, Greater London

(8) Ibadan, Nigeria

(4) Lausanne, Switzerland

(5) Question not attempted

While planning Curriculum design,

which factors should not be

considered ?

(1) Age of the learner

(2) Sex of the learner

(3) Growth and development
pattern of learner

(4) Religion of the learner

() Question not attempted

Visual representation of numerical
data is known as :

(1) Charts (2) Graphs

(8) Drawings (4) Posters

(6) Question not attempted

Which one of the following is not
considered under the instructional
methodologies and resources ?

(1) Case Study

(2) Role play

(3) Demonstration

(4) Situational

(5) Question not attempted
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134. “Physical Education, is an mtegral
part of the total education process”,
was said by

1) J.B. Nash
2) D. Oberteffer
(3; J.P. Thomas
(4) Charles A. Bucher
(5) Question not attempted

185. Who from the following categorised
M1htary gymnastics as one of the

e of nastics 7
{yr Dudley Allen Sergent
8
s

Per Henrick Ling
John Basedow
Archibald Maclarin
Question not attempted
186. Which one of the following pairs
(Year-Events) is not
matched in context to Ajmer Singh ?
(1) 19656 to 1970 - National
Champion in 200 m & 400 m
race.
Received Arjuna

1966
ward.
1962 Created Indian

University Record in 400 m
race.

(4) 1961 — Admitted in LCPE
Gwalior.

(5) Question not attempted

Consider the following period and
arr these in correct
chronological order starting from
the earliest to last activity :

I. The Vedic period

II. Indus Valley Civilization

I1I. Medieval period

IV. Hindu period

Select the correct answer from the
code given below :
(1) LILIOLIV (2 ILILIV,II
(3 LILIV,II (4 IIIIIIV
(6) Question not attempted

World Athletics Championship
2023 was held at
(1) London, Great Britain
(2) Budapest, Hungary
EE Tokyo, Japan
Doha, Qatar
(5) Question not attempted

(2)
(3)

—_

187,

138.

75
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139.

140.

141.

142,

Consider the following statements
with reference to sports award in

India :

I. In India to honour sportsperson,
Major Dhyanchand Khel Ratan is
awarded. )

II. To honour sportsperson Tlifétime

achievement awards’ are given by
Government of India. i
Saéact}ha gu;'rect answer from-the
code given below :
Code : el
(1) OnlyI
(2; Both I and II
(3) OnlyIl
(4) Neither I nor I1
(5) Question not attempted

Consider the following statements
with reference to assessmeft’ of
para athlete : N

I.  Does the athlete have an eligible
impairment for this sports ?

II. Does the athlettﬁe'n ible
impairment meet the minimum
impairment criteria of the sport ?

Select the correct answer from the

code given below :

Code :

(1) OnlyI

(2) BothIandII

(3) OnlyII

(4) Neither I nor II

(5) Question not attempted L0

N
Black Card is used in which 9fthe
following game ? N
(1) Judo o
(2) Badminton on
(3) Wrestling
(4) Boxing

(56) Question not attempted

Which one of the following is not
related to socialization through
sports ?

El} Role playing

2) Status

23) Centralization

4) Self Image

(5) Question not attempted
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143. Match the following versions of

144.

145.

oy
L=
[=:]

. 8

chess :

(i) Xiangqi A. Japanese
(ii) Shogi B. European
(i11) Chaturanga C. Chinese

(iv) Western Chess D. Indian
(1) @-A, ()-C, (ii)-D, (iv)-B
() @-C, (ii)-A, (ii))-D, (iv)-B
(8) (i)-B, (ii)-C, (iid)-D, (iv)-A
(4) ()-B, (iD)-A, (iii)-D, (iv)-C
(5) Question not attempted ° 4
Shankhaprakshalana is also known a8 —
(1) Vastra Dhauti
(2) Varisara Dhauti
(8) Sutraneti

(4) Moolshodhan
(5) Question not attempted

Read the following statem;r;&)

carefully and choose the co

option : U

Statement i : On 20t July, 2(]2‘15
10C apprﬂved a change
Olympic motto. o 3

Statement ii : Latest motto in'
French version is “Plus vite,
Plus haut, Plus port
Ensemble.”

Statement iii : Original motto was
designed by Coubertin.,

Lo

N
oy
Q)

Option :
(1) Only statements i and ii are
correct. [ |
(2) Only statements i and iii iﬂ
correct. ~J
(3) Only statements ii and iii iﬁ
correct.
(4) All statements are correct. "
(5) Question not attempted
urya namaskar was originated
durmglthe
dus Valley Period
2) Vedic Peri
3) Hindu Period
4) Medieval Period
5) Question not attempted
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147. 317¢ 37 &t & oAy & w0 it € gafda
1 HEHT T YT 7
(1) 1898 % 1928
(3) 1896 % 1926
- (5) FEE v
148, Prefifea et ) e o st ad
e i 2 peater i Raedt & srfrard susor
A STl a1t W widferm Bt 2 |
HY ii : G | T EHE & v §
w1 AT R |
WY iii : Featar # e g 15 w
s MeafmdEmd
> ot i woT Ed E |
Hae 99 1 i wEE |
e FY 1 3 i T |
e Y i 3N iii 7@ E |
S W

149. 3757 37ard & oo €5 areft veeh wfie
 wRY?
Co() wEEeeEd (2) e
@) FhmwE  (4) wnnafd
ENORE <UL
150, 38 % @ 4 geater 3 Fram R st
WA a2 7
(1) 3, 6=, gdme, gefergm
(2) st H=, ol St
(8) sh, sefergm, fw, S
(4) S, gemreh, @fw, R
(6) gt S

(2) 1897 ¥ 1928
(4) 1896 @ 1925

147. What was the term of Pierre de
Coubertin as a president of the I0C ?
(1) 1898 to 1928
(2) 1897 to 1928
(3) 1896 to 1926
(4) 1896 to 1925
(5) Question not attempted

Read the following statements

carefully and choose the correct

option : g

Statement i : The compulsory
equipment of a player
comprises a shirt with sleeves
in football.
Statement ii : The referee in soccer
acts as a Timekeeper also.
Statement iii : Video Assistant
Referee is a match official in
football.

Option :

(1) All three statements are correct.

(2) Only statements i and ii are
correct.

(3) Only statements i and iii are
correct.

(4)

(5)

148.

Only statements ii and iii are
correct.
Question not attempted

149. Who was the first woman to be
honoured with the Arjuna Award ?
(1) Karnam Malleshwari

(2) Anna Lumsden

(3) Sunita Purl

(4) Sobha Morthy

(6) Question not attempted

In which languages the IFAB
publishes the law of football ?

150,

(1) [English, French, Portuguese,

Tiaban

(2) English, French, German,
Spanish

(3) English, Italian, German,
Spanish

(4) IEn lish, Portuguese, Spanish,
talian

(5) Question not attempted
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